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(1) 1L = dL (2) 1L = mL
(3) 1dL = mL (4) 3000mL = L
(56) 25dL = mL (6) 5L8dL = mL
(7) 500mL x 8 = L (8) 24dL -6 = mL
(99 10L X 10 = dL (4) 64000mL=8= L
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(1) 28X 100 = (2) 100X 100=
(3) 68000+ 2000 = (4) 41000 — 7000 =
(5) 71520+-10= (6) 508000+ 1000 =

O X=VLOABAIL BELSADZES (72

(1) 560108 - 580106 - 568100 - 581068

— — —

(2) 809441 - 809114 -809141 -809411

— — —

¥5 U wA L

€) BFEREFTHIS menl

(1) 24680

(2) 806250000

(8) 3740500002019

©#FIZ®ch @ misonya.com




3ESE ||gEHRY)IL[ Fxre-3 g 109

FRE
T fH 2] 50 =

/A

"BEVDOEL & TOBIHLVERTLERSBRLL,
103,/ M3HFY1, T M2HFV4, U RVAK,

Law ~ & 0T r5$()4j @ r4J (i\ bgéﬂz@ r3J J:():Ej(%(:‘&:iao
BH ~X7Bh

@ rvEELES DURhBOEZR. BEVBEES (men

(1) 15+2= (2) 22 -3 = (3) 33 -4 =
(4) 480 -8 = (56) 49 -5= 677 ~7 =
(7) 50 +6 = (8) 80 9= (9)142 -7 =
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(1) 35 = 4 X + 3 (2) 32 = 6 X + 2
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(5) 47 = 8 X + 7 (6) 62 = 9 X + 8
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(1) 45 (2) 23 (3) 52 (4) 86
X 2 X 4 X 5 X
(5) 175 (6) 428 (7) 536 (8) 742
X 3 X 5 X 8 X 9
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(1) 200X6+200x4= X200=
(2) 15%x4= X4+ X4= +
(3) 68X7= X7+ X7 = +
(4) 47x9= X9+ X 9= +

&z

€) 50z IvF—BASKFEN. AE—ABYUET,
JyE—3 L BT AENBYETH [102]

©#FIZ®ch @ misonya.com



saEt | &R L[ Fxros ||(BEm 109

=¥
£ A 50 =
m - -
100cmiEfAm? 1lkmEfAmE->KE? s
— S LA . BRELTBLN
B3 ~7ZE HED
o ‘:Li“%i&’&?ﬁ‘l’) [1F92:5)
(1) 100cm= m (2) 1Tkm= m
(3) 560mm= cm (4) 385mm= cm m m
(5) 25m= cm (6) 10km500m= m
O HEELES o
(1) 6km+550m= m (2) 2400mm+1m= cm
(3) 34km+9000m= km 4) 149cm+1510mm= m
(5) 7500m+8km300m= km m
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